1	က က (၁)	40.4	S	0		3	4	A,	4	-4	Q)	4	4-4	0	$\infty$	*-4	ш	7-4	4-4	७.	Ф.	Ø	S	<u>~</u>	r	$\infty$	Ö	ŝ	S	(2)	S)	1
	公日     	+~~			<b></b>	<u></u>			<del></del> 1	n-u-c-	<i>-</i>	<u></u>	r-4	F-4	ص 		<b></b>	*****	prod prod	<del></del>	***	hed	<u></u>				p-1		*****		****** *	1
  - 	1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	49	တ	& 5	73	77	29	67	80	3	IJ	Ø	3	S	3	N		3	-	61	41	44	44	က က	34	28	<b>4</b> ∞	က	ည	9	ଡ	! ! ! !
< <b>₹</b>	N E	67	30	31	<u>ග</u>	97	102	0	& 6	41	22	29	30	27	50	7.		14	14	77	7,4	က	42	42	22	22	34	41	41	49	က က	
CO I	ROS	1,	73	228	20	 	0	<u></u>	<del></del> 4	9	13		0	0	0	 	0	 0	0		33			10			16			တ	<b></b>	1 1 1 1 1 1
1 1 1 1 1	R B B B B B B B B B B B B B B B B B B B	1 67	28	20	Ţ	 	0	·	9	13	r1	0	0	0	14	0	0	-	0	 	 	•	10	0	72	16	0	18	တ	Ä		i   
	ROS	             	20		0	6		9	13		_ 0		0	14	0	0	•	0	333			10					18		r-i	·	<u>ത</u>	1 1 1 1 1 1
A I N F	R02	20 2		0	<u>_</u> ნ	<del></del> 1		 		.0	0	0	14	-	-	0		333			10			16			9		<b>·</b>	6	<u>ი</u>	1 1 1 1
24	RO1			\$	<del></del> -	9	13	<b>€~</b> ••••••••••••••••••••••••••••••••••••	0	•	_ o	14	0	0	0	 •	 	<u></u>		10		132			18	9		0	<u>-</u>	6		1 1 1 1
) t t t	ROOR	1 :	<del></del>	y	9	<u>ਜ</u>	<del></del>	 0	0	•	14	. 0	0	0	0	33	6		10			18		 ∞	9	-	0	 			18	!!!!!!!!
9	S.W 1/s	1 0	6.9	2	0.9	ω ω	1.6	0	. 97	**	**	经经济	**	46 46 46	***	44 44 46	36 36 36	特特特	상	**	经经济	转转转	**	46 46 46	转移转移	**	计计计	特特特特	**	46 46 46 46	\$£	l I
اس	SW-2 1/sec.	35	60)	3	3	3	3	ς,	ω,	3	.63	3	4	4	4	₹.	<b>ব</b> '	4	4	4.	ず.	4.	4.	₹,	*	. 43	神神神神神神	特特特特	特特特	# # #	46	1 1
7. E	SW-1 1/sec.	54	'n	гů	ic)	'n	2	$\sim$	~	7	∾.	~	∾.	~	2	2	∾.	S.	۲,	્	~	4	2	S	N.	2	46 46 46	46 46	特特特	**	46 46	t t
88 1	N	185	85.6	85.4	85.2	84.9	84.8	84.7	84.6	84.3	84.2	84.1	83.9	83.8	83.7	83.6	83.5	83.4	83.4	83.3	83.4	83.5	83.4	83.4	83.3	83.3	83.2	83.2	83.2	83.2	83.2	1 1
N I E I I I I I I I I I I I I I I I I I			02	03	04	05.	90	0.7	80	- 60	0	11	12	က	4.	ر کا	16	۷.	∞	တ	20	21	22	23	24	25 -	- 92	27	28	~ 53	30	

Table A5.1.22 Seepage through the Dyke (October 1988)

(Rain Adjust: -0 mm)

	N E N E		A۱	643										<b>[~</b>	<del></del> 4	2	0		1	S	3	S	<del>per</del> q	***
	S	67	83	$^{\circ}$	101	0	75	99	75	74	87	တ္	74	77	89	62	61	<u> </u>		4	129	<b>4</b>	4	$\infty$
	N E	41	25	34	25	32	49	49	43	43	30	12	27	28	근	<u>-</u> ග	<b>(</b> √2)	122	တ	ပ	<b>~</b>	-4	чеŅ	Ó
V O	W		 О		13		 •	<del></del>	<u>-</u>	0								42			∞	 9		22
	M	- - - - - - - - - - - - - - - - - - -	<u>-</u>		8		m	 თ	0	 0	 							23		∞	<u>۔</u> و			22
ALL	X E E E					м —	 ග	 0			4								<b>~~</b>	9		22		7
A I K	R02	13.	18		<del>ر</del>	 6	_			4		58						∞,	9		22			
24	R01	1 8 T	· ·	m	 - - - -	 0	0				22						∞	9		22		~	32	0
	ROO HH	0	<u></u>	6	 O						 						9			22		32	0	0
	SW-3 1/sec.	38 38	*	46 46 46 46	36 36 36 38	46 46 46 46 46	\$\$ \$\$ \$\$	**	**	特特特	** ** **	经经验	特特	35 35 35 35	16 36 35 35 35	36 36 36	% % %	36 36 38 38	36 36 36 36	46 46 46 46	46 46 46	46 46 46 46	야 야 안	44 44 44 44
K A G	SW-2 1/sec.	43	₹.	4.	4.	4.	'n	ω,	3	٠.		8	3	က	8	ς, Φ	<b>∞</b>	3	3	8	8	3	\$6 \$\$ \$\$ \$\$	46 46 48
B     B	.⊃≥ ທ l	1.25	1.25	<u>.</u>	∾.	ເດ	ت	,	က	റ	'n	4	7,	4	4	4.3	4	4	4	0.2	0.2	ະດ	转移转	36 36
⊗ ! ⊗ !	I	183.21	83.2	83.2	83.2	83.3	83.4	83.5	84.8	86.9	88.1	89.3	90.3	95.5	96.5	97.3	98.1	98.7	**	**	**	经经济	*	46 46 46
TOC 1	00	ာ																						

Cement Grouting : 560t

						(Pego 22.	00/084/
	Description	Specification	Unit	Estimated Quantity	Unit Price (Peso)	Amount (Peso)	Note
1.	Equipment						
	Grout mixer	200 ( x 2 2.2KW	day	185	328.24	60,724	÷ .
	Grout pump	37~100 Q /min 75KW	day	185	682.44	126,251	
•	contingency	(5 %)				9,349	
	Sub-total					196,324	
						-	
2.	Labour						
	Foreman		day	185	256	47,360	
	Skilled		day	370	120	44,400	
	Unskilled		day	740	100	74,:30	:
	Helper		day	835	100	83,500	
	Sub-total					249,260	
3.	Electricity						
	Electricity		KWh	10,767	1.02	10,982	•
	Sub-total					10,982	
4.	Material						
	Cement		t	560	1,350	756,000	
	Sub-total					756,000	
	, , , , , , , , , , , , , , , , , , ,		:	•			
5.	Temporary Faciliti	es (25%)	L.S.	1		303,142	
	:						
6.	Field Adiministrat	ion (10%)	L.S.	1		121,257	
	<del>- · · · · · · · · · · · · · · · · · · ·</del>		1				
7.	General Administra	tion (15%)	L.8.	1	nit.	181,885	
					1 1		
	Total					1,818,850	
							1
	· · · · · · · · · · · · · · · · · · ·			<u>የ</u> ትየት	(per t)	Peso 3,248	<u> </u>

### Mortar Grouting ( $V = 50 m^3$ )

	Chi <u>rtayyyy maddidd Pygan alauddid I ayynay aladidd D</u> yy <del>gan gyfad</del>			-	<del></del>	(read 8%.)	, , , , , , , , , , , , , , , , , , , ,
	Description	Specification	Unit	Estimated Quantity	Unit Price (Peso)	Amount (Peso)	Note
1.	Equipment						
	Grout mixer	200 ( × 2 2.2KW	day	25	328.24	8,206	
	Grout pump	37~100 ∫ /min 75KW	day	35	682.44	23,885	
	contingency	(5 %)				1,605	
	Sub-total					33,696	
2.	Labour						
	Foreman		day	35	256	8,960	
	8killed		day	35	120	4,200	
	Unskilled		day	70	100	7,000	
	Helper	<u> </u>	day	100	100	10,000	
	Sub-total				200	30,160	
	575 575					30,7200	
3.	Material					· · · · · · · · · · · · · · · · · · ·	
	Cement		t t	30	1,350	40,500	
	Sand		πŽ	70	130	9,100	
	Sub-total					49,600	
							14,4
4,	Electricity						
	Electricity		RWh	300	1.02	306	· · ·
·	Sub-total					306	
5.	Temporary Facilit	ies (25%)	L.s.	1		28,441	
6.	Field Adiministra	tion (10%)	L.S.	1		11,376	
		T					
7.	General Administr	ation (15%)	L.S.	1		17,064	
L							
				<b> </b>		•	
,,	Total			9.		170,643	
-		44		公公	(per t)	Pego 3,413	វេវា

### Clearing & Grubbing V = 16,000 m<sup>2</sup>

4	Description	Specification	Unit.	Estimated Quantity	Unit Price (Peso)	Amount (Peso)	Note
1.	Equipment	A STATE OF THE STA					
	Bulldozer	D7	hr	89	1,320	117,480	
_	Dump Truck	11 ton	hr	1,000	352	352,000	
	Tractor Shovel	1.2 7%	hr	89	506	45,034	
	Sub-total	770			i	514,514	
2.	Labour	· .					
	Foreman		hr	89	32.25	2,870	
	Skilled		hr	89	15.00	1,335	
	Operator	<u> </u>	hr	1,178	17.13	20,179	
	Helper		hr	1,778	12.50	22,225	
	Sub-total					46,609	
З,	Fuel						<u> </u>
	Diesel		Q.	29,314	4.70	137,776	
	Sub-total					137,776	
		(250)	7.6	1		174,725	
4,	Temporary Facilit:	ies (25%)	L.s.	*		114,723	
5.	Field Adiministrat	tion (10%)	L.s.	1		69,890	
6.	General Administra	ation (15%)	L.S.	1		104,835	
		<u> </u>	-			1,048,349	
·.	Total					1,040,343	
			1	公众	(per m²)	Peso 667	<b>1</b>
			1 1 1				
	<del> </del>						

Excavation - 1 (to embankment)  $V = 17,600 \text{ m}^3$ 

				(Peso 22.0	0/08\$}
Description Specification	Unit	Estimated	Unit Price	Amount	Note
		Quantity	(Peso)	(Dead)	
1. Equipment					
Bulldozer D7	hr	196	1,320	258,720	
Dump Truck 11 ton	hr	880	352	309,760	
Tractor Shovel 1.2 m2	hr	196	506	99,176	
Sub-total		-		667,656	
2. Labour					
Foreman	hr	196	32.25	6,321	
Skilled	hr	196	15.00	2,940	
Unskilled	hr	588	12.50	7,350	· 
Operator	hr	1,272	17.13	21,789	
Sub-total				38,400	
					·
3. Fuel					
Diesel	Q.	28,856	4.70	135,623	
Sub-total				135,623	
4. Temporary Facilities (25%)	L.S.	1		210,420	
					. <del></del>
5. Field Adiministration (10%)	L,S.	1		84,168	
					e e
6. General Administration (15%)	L.S.	1		126,252	
Total				1,262,519	
					:
		ជជ	(per m³)	Pego 72	ដេ
	_				

# Excavation - 2 (to disposal area) $V = 2,700 \text{ m}^3$

					12000 221	,,
Description	Specification	Unit	Estimated Quantity	Unit Price (Peso)	Amount (Peso)	Note
1. Equipment						
Bulldozer	D7	hr	30	1,320	39,600	
Dump Truck	11 ton	hr	338	352	118,976	
Tractor Shovel	1.2 712	hr	30	506	15,180	
Sub-total					173,756	
2. Labour						
Foreman		hr	30	32.25	968	
Skilled		hr	30	15.00	450	
Unskilled		hr	60	12.50	750	
Operator		hr	398	17.13	6,818	
Sub-total					8,986	
3. Fuel						· · ·
Diesel			9,906	4.70	46,558	
Sub-total		(4			46,558	
		ļ				
4. Temporary Faciliti	es (25%)	L.S.	1		57,325	
5. Field Adiministrat	ion (10%)	L.S.	1		22,930	
5. General Administra	tion (15%)	L.S.	1		34,395	
Total					343,950	
			ជាជា	(per m³)	Peso 127 €	रध
· .						
					· · · · · · · · · · · · · · · · · · ·	

Embankment (Spreading and Compaction)  $V = 19,200 \text{ m}^3$ 

			Estimated	Unit	Amount	
Description	Specification	Unit	Quantity	Price (Peso)	(Peso)	Note
. Equipment						
Bulldozer	D8	hr	209	1,320	275,880	
Vibrating roller	11 ton	hr	108	550	59,400	
Sub-total					335,280	
2. Labour		<u> </u>				
Foreman		hr	104	32.25	3,354	
Skilled		hr	209	15.00	3,135	: : : : : : : : : : : : : : : : : : :
Helper		hr	490	12.50	6,125	
Operator		hr	245	17.13	4,197	1
Sub-total					16,811	:
3. Fuel						
Diesel		l	5,058	4.70	23,773	
Sub-total					23,773	
4. Temporary Facili	ties (25%)	L.s.	1		93,966	
5. Field Adiministr	ation (10%)	L.S.	1		37,586	
					· · · · · · · · · · · · · · · · · · ·	
6. General Administ	ration (15%)	L.S.	1		56,380	
		_				
Total					563,796	
			公众	(per m³)	Peso 29	<b>1</b>

# Trench Excavation V = 4,900 m<sup>3</sup>

	:				(5000 42.	0070007
A CONTRACTOR OF THE PARTY OF TH			Estimated	Unit	Amount	
Description	Specification	Unit		Price		Note
			Quantity	(Peso)	(Peso)	
1. Equipment						
Backhoe	1 m³	hr	70	1,100	77,000	
Dump Truck	11 ton	hr	613	352	215,776	
Sub-total					292,776	
2. Labour						· · · · · · · · · · · · · · · · · · ·
Foreman		hr	70	32.25	2,258	
Skilled		hr	70	15.00	1,050	
Unskilled	· · · · · · · · · · · · · · · · · · ·	hr	210	12.50	2,625	
Operator		hr	683	17.13	11,700	
Sub-total					17,633	·
3. Fuel						
Diesel		ı	17,811	4.70	83,712	
Sub-total					83,712	
<u> </u>						
4. Temporary Facility	(25%)		1		98,530	<del></del>
	<u> </u>					
5. Field Adiministrat	ion (10%)	L.S.	1		39,412	·····
			:			
6. General Administra	tion (15%)	L.S.	1		59,118	· .
						<del></del>
			1 1			
Total					591,181	
			: :			
			☆☆	(per m³)	Peso 121	rΩ
						<del> </del>
		,				· · · · · · · · · · · · · · · · · · ·
		<u> </u>			1	
			L			

Gabion

v =1, 545 m<sup>3</sup>

		<del></del>		Unit	(Pero 22.)	
Description	Specification	Unit	Estimated Quantity	Price (Peso)	Amount (Peso)	Note
l. Material			والمتابات والمتا			
Wire mesh	4 kg/unit	kg	4,120	22.68	93,442	****************
Cobble stone		ฑ์	1,545	250.00	386,250	· · · · · · · · · · · · · · · · · · ·
Miscellaneous	(2 %)	L.S.	1		9,594	
Sub-total					489,286	
		1				
2. Equipment						
Truck		hr	454	230.00	104,420	
Sub-total					104,420	
		1				
3. Fuel						
Diesel		Q	7,151	4.70	33,610	
Sub-total					33,610	
4. Labour						
Skilled		hr	412	15.00	6,180	
Unskilled		hr	1,236	12.50	15,450	
Operator		hr	454	17.13	7,777	
Sub-total					29,407	
5. Temporary Faciliti	es (25%)	L.S.	1		164,181	
6. Field Adiministrat	ion (10%)	L.S.	1		65,672	
7. General Administra	ition (15%)	L.S.	1		98,508	
		_				
					005 004	
Total		ļ			985,084	
		-		(per _3)	Рево 638	, <sub>-</sub> ,
			MM	(per $m^3$ )	2020 0007	4 M

# Cobble stone $V = 1,950 m^3$

	To the feltoning to request the material and the second of				VECRO 22.	
Description	Specification	Unit	Estimated Quantity	Unit Price (Peso)	Amount (Pego)	Note
1. Material						
Cobble stone		πξ	1,950	230.00	448,500	
Sub-total					448,500	
2. Equipment				:		
Truck		hr	574	230.00	132,020	
Sub-total					132,020	
3. Fuel						
Diesel		Q	9,041	4.70	42,493	
Sub-total					42,493	
4. Labour						
Skilled		hr	3,467	15.00	52,005	
Unskilledl		day	10,400	12.5	130,000	
Operator		hr	574	17.13	9,833	
Sub-total					191,838	
5. Temporary Faciliti	les (25%)	L.S.	1		203,713	
6. Field Adiministrat	tion (10%)	L.S.	1		81,485	
7. General Administra	ation (15%)	L.S.	1		122,228	
Total					1,222,277	· · · · · · · · · · · · · · · · · · ·
						:
			ជជ	(per n³)	Peso 627	<b>\$</b> \$
·						

Concrete  $V = 710 \text{ } m^3$ 

					(Peso 22.0	07 60 57
Description	Specification	Unit	Estimated Quantity	Unit Price (Peso)	Amount (Peso)	Note
1. Equipment						***************************************
Temporary Mixer	(41KW)	mon.	2	8,148	16,296	
Truck mixer	3 m <sup>3</sup>	hr	150	399	59,850	
Truck	6 - 8 (271HP)	hr	219	230	50,370	
Miscellaneous	(10 %)	L.S.	1		12,652	
Sub-total					139,168	
2. Material		<u> </u>				
Cement		t	284	1,350	383,400	
Sand		m³.	243	130	31,590	•
Gravel	<u> </u>	m.	501	250	125,250	
Miscellaneous	(10 %)	lir.	1		54,024	
Sub-total					594,264	······································
······································		-				
3. Labour		<del> </del>				<del>,</del>
Foreman	<del></del>	day	25	256	6,400	<del> </del>
Skilled		day	100	120	12,000	
Unskilled		day	200	100	20,000	,
Carpentor	(Specialist)	day	150	137	20,550	
Operator		day	78	137	10,686	
Sub-total					69,636	
4. Fuel & Electricity		-				
Diesel		-	8,311	4.70	39,062	
Blectricity		l KWh	21,150	1.02	21,573	
Sub-total		WAIR	44,130	1.02	60,635	
Dan EOLEI				-		
5. Temporary Faciliti	es (25%)	L.8.	1		215,926	
				. 1		<del></del>
6. Field Adiministrat	ion (10%)	L.s.	1	1	86,370	
		1				

Table A.6.1.10-2 Cost Breakdown of Angat Rehabilitation Work No. 10-2

Description	Specification	Unit	Estimated Quantity	Unit Price (Peso)	Amount (Peso)	Note
7. General Administra	ation (15%)	L.S.	1		129,555	
		<del> </del>				
Total					1,295,554	
		ļ	· · · · · · · · · · · · · · · · · · ·			
			ជ្ជជ	(per m³)	Peso 1,825	} } }
		ļ		III-		1
	1.	<del> </del>				
· · · · · · · · · · · · · · · · · · ·						
		<u> </u>				
					<u> </u>	
	`\	<u> </u>				
		<u> </u>				
		ļ				
					· · · · · · · · · · · · · · · · · · ·	
	:					
		<b></b>				· · · · · · ·
		<b>—</b>				
	· · · · · · · · · · · · · · · · · · ·					
<del> </del>		<u> </u>				
				:		
			~			

Re-bar (33 ton)

Description	Specification	Unit	Estimated Quantity	Unit Price (Peso)	Amount (Peso)	Note
1. Equipment						
Truck	(175 HP)	hr	20	230	4,600	
Crane	11 ton	hr	20	484	9,680	
Miscellaneous	(20 %)	L.S.	1		2,856	
Sub-total					17,136	
2. Material						
Re-bar		t	33	12,100	399,300	
Miscellaneous	(20 %)				79,860	
Sub-total					479,160	
3. Labour						· ·
Foreman		đay	35	256	8,960	
Specialist		day	35	137	4,795	
Skilled			175	120	21,000	
Operator		hr	40	137	5,480	
Unskilled		hr	105	100	10,500	
Sub-total					50,735	
4. Fuel						
Diesel		Q	729	4.70	3,426	
Sub-total					3,426	
5. Temporary Facilit	y (25%)				137,614	
*	<u> </u>	_		-		
6. Field Adiministra	 stion (10%)	L.S.	1	1	55,046	
				_		
7. General Administr	ration (15%)	L.S.	1		62,569	
Total					825,686	
4 V L & A				(per t)	Peso 25,021	12



divarya a and distance